Ratio to ATLAS

d Nth
sum E;

0.5

7000 GeV pp

Underlylng Event

Rivet 3.1.0, > 6.8M é'Vents

mcplots.cern.ch [arXiv:1306.3436]

N

0.5

_| L N B B B B B |_
bum ET (0.0 < | < 0.8, o™ > 0.5(0.2) GeV, E‘fz > 20 GeV, h'?| < 25
— —
= " =
— u -
| [ | _|
= = -
S - -
= | =
T S ?
= m  ATLAS =
—  --3-- Herwig 7.1.1 default -
| —— Pythia 8.301 default |
= ¢ Sherpa 2.1.1 default =
§| T HEN NP TR AU R TN SENPU RA ANNUT N TN AU R AU NN SRR SR T E
:l T T T T | T T T T | T T T T | T T T T |:
P TP T SR S P TP T SR S P TP T SR S P TP T SR S |
0 10 20 30 40

sum E_ [GeV]



	Contents
	Page 1


